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September 2016 Name .13
First Year Higher Secondary Improvement Examination
Part - I11
BIOLOGY

Maximum : 60 Scores
Time : 2 Hours
Cool off time : 20 Minutes
Preparatory time : 5 Minutes

/General Instructions to Candidates : \

® There is a 'Cool off time' of 10 minutes each for Botany and Zoology in
addition to the writing time of 1 hour each. Further there is a '5 minutes'
'Preparatory time' at the end of the Botany Examination and before the
commencement of the Zoology Examination.

® You are neither allowed to write your answers nor to discuss anything with
others during the 'Cool off time' and 'Preparatory time'.

® Use the 'Cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions isalsc provided.

® Give equations wherever necessary.

® FElectronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.
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PART - A
BOTANY
Time : 1 Hour
Maximum : 30 scores Cool off time : 10 Minutes
1. By examining the four 1. @oev ecridenm 4 wsemoasled

matchpairs given below, find the al@lewous o) tudlwow alBeROUI®:68

correct matched pair from the @06 OIS TL0M HEHOEIBE]E

alternatives given below.

oo’ 3660301 ag)9)@16.

(1) Racemose — Peduncle grows indefinitely

eomileadomy’ T olieaeies @ emlvalmacel ageym

(i1) Epigynous flower Ovary superior

ofafloanmmd qgaid  —  @remtuore 281 @0 £067DOAS10M)
(111)  Phyllotaxy — Arrangement of leaves on the stem
anlegjosowmil —  HIEMAETIR elHa0S Qly®y0Mo
(iv)  Coleoptile — Envelop covering the radicle
808l IOeSE - Odwlesildinm osimm @oaloeme

a) (1) and (ii)

b) (1) and (iv)

c) (1) and (iii)

d) (1) and (iii) (1)

a) (i) and (i)
b) (i) and (iv)

¢) (i) and (iii)

d) (i) and (iii) (1)

Identify the cell organell known
as 'powerhouse' of the cell from

those given below.
a) Lysosome

b) Centrosome
c) Mitochondria
d) Plastid
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Cell wall deposits of diatoms are
called diatomaceous earth.

‘Write any two uses of it.

In timber yielding plants, only
the central part of wood is used
for making furniture.

Name this part and justify your

answer.

Light reaction involve cyclic and
noncyclic electron transport.
Classify the features given
below under the above stages of

light reaction.

_a) Only pigment system I is

involved
b) ATP and NADPH are formed

c) Splitting of water occurs

(1)

(1)

WRORDIEHEINS CHINEIOWIWIOS
@AW YTBOY  WQIBRIEDaHITY

)@ ag)imy alo@imy. IO

aReO®@ELIel0 2 DGO af) LIS,
an®emlayd m@domoemamim’
8 ale@OoulH6nHMm QU EBBIOS
mSIWOsS Q@ELYy @O0Wo  AI(MER

@G MR HalEWIUSEHINBR).
60D BONMTIOM GaloER®] ATlEMBgIOs

@ E (10 ODD), Ny BB 6.

(AIBHOUD ARISETIAD EDRIMGSONIOS
2101 HQI0 - BR2ID (@] HOR0W
al@HMEMo MNSTMOQISIM]. MOOY
6125 RlBOM aflena @08
(LSO WIRISEDIOM GO alO6TD
alzomemglelon] meo @IClLew.

a) oflvea@® migye I  oowo
- OO

b) ag@lafi@ic ag)m.aglfiallagailo

©6MB0B)MN.

¢) zeiewd aflepismo
. . afl
d) Only ATP is formed 2) oL
d) aggladl 2o@o ©EMB0HMY
Cyclic electron transport Noncyclic electron transport
3
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6. Double fertilization is a unique
feature of angiosperms. Explain
the two processes involved in

double fertilization.

7. The internal anatomy of dicot
and monocot stems shows many
differences. Mention any four
differences between their

vascular bundles.

8. Identify the diagram and label

the parts shown as

6 N
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10.

11.

Chemiosmosis theory  of
photosynthesis requires a
protein gradient for ATP

synthesis tc occur. Explain any
two events that causes protein

gradient.

Ribosome is the cell organell
seen in both prokaryotes and
eukaryotes. Mention how
ribosomes differ in prokarvotes
and eukaryotes. Also mention

the function of ribosome.

Observe the

identifv the phenomenon that

diagram and

in the transport of
Also

mention the three type of

helps

molecules 1in plants.
movement of molecules shown in

the diagram as (i). (i1) and (i11).

KR-40
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11.

(addHOUd mo@ggnmmmm%
o@aleomieaonilay Gled @me 2.
agylafl avoEggaxemo NSO F
80) @laloeg06mM o
@OOLUDYDOET. Gl caegoe? el
©EMBO B0 £ 5@ oM 2

ezt ANwEloclens.

2,500 eWosidElelo Bal0B:00EWIS)
Seleljo B06MEQISYM GEHIUINAEN
OOCENIOETVI0. Blal0BOTGRIOSIEE]
B0 W BOCleOSHElRlo HHOEMIO—
MO0 QfEBEM  QUI®OTOSIAl
£ af)(Mie ©60cMIoEmOdOM

WOMOANT N0 G)PITE.

all@o M@lelon)ds.

recoyere el @l LM
TeLasmEmITY M an 16N
(. @lEoaeED GElGleTT af)PIeIs:.
afeesiad (1), (11), (i) agomiesem
cosuagsyoieigies 3 dololeyss

SRDOO(®O

MOaOMEmO

GMQ@@&@&&;.
(1)
(ii)

LA
(1) g
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12.

13.

14.

About 16 elements are found to
be needed for the normal growth
and development in plants.
Mention the three important

criteria for the essentiality of an

12.

MMV EIBELI6S v TfelcioloR (R =N
L bl Weelo Q&M EmIMyo
QR EBU0 16 PIE N T
@0 @0 (0@ 6’ agyom’

SOEBOTIQIZINE. B0} MRIHOmlen

element and the metalic element IV IP N ) mluz@leeim
forming the  structural QOMBETLEBR  oRO®E OB
component of chlorophyll aN@I@BMETOR cismEI@ (aldom
molecule. (2) al8hlUa0len)mn  GRI0AD  MRidho
ARODNIC L) FIDs.
Match the following. (2) | 13. caiopais caideamei®:.
A B
a) Stomatal Closure 1) Cytoplasm

@DIVIOM(Wo @S]

6)6)TLEHOg 0o

b) Citric Acid i1) Plasticity
milSles @pailay’ agoaylavigl
c) Glycolysis 111) y Ethylene
£6REH0glavImy’ ag)aleflad
d) Heterophylly 1v) Kreb's cycle
£a0QeE0dadlgfl B (eI ML (D
v) ABA/agyenflag)
Auxin and Gibberellin are two 14. vy usdoyew mleEmlesmm

important growth hormones
that control plant growth. Write
any two important functions of

each of these hormones.

KR-40

(2)

2 (awom gda BGaOOREMOEMEH806m
808 aimyo wlenolalimyoe.
2 Ba0OBEOMIBIOSW0 ([ IWIMeS

2 wAcnemB All®o ag)Pys.

417

@)
(2)

(2)



Answer either Ques no. 15 or 16.

15. Identify the of

Prophase 1 of meiosis in which

substages

the following events takes place.

Mention any two significance of

meiosis.

a) Dissolution of the
synaptonemal complex.

b) Crossing over.

c) Pairing of homologous
chromosome.

d) Terminalization of chiasma

OR
16. Observe the diagrams. Identify
the A and B stages of mitosis.
Write any two identifying

features of each stages.

(3)

(3)

@al0ayem®@ 15 , 16 @ eanim; as@o

DADOODYP) @),
15. grmecnenion eaiosanwas T o
@O&Y A OWIM MoBAITBR MSHHYM
9aleaigaBwd @idledlermy QG)PYDIBs.
DIMBoNEDIOMR 2 (alowomyem @
Q) PAD).
a) milmoalzgoeniaa Geh00gJBMIleM
afleozme.
b) ewomilows soaud.
c) momom GO0 EMODIHE16S
R0 eodmm.
d) swomnwes esdalmessiemy-.
a0,
@S gyeslad
16. ZNioemadk M Blelc6) 10

Basonowloas A wio B wpo
ceigemeg  oleloyclemy araiwies
oRe@®eje 2 valleraume:t alimo

Q) LY.

(A)

(B)
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Answer either Ques no. 17 or 18,

galoByem®@d 17,18 @@ emlm; ado

_ | HOMOODLYD .
17. "There are several reasons why ¥ .

. 17. “woom @@ AIEBEIL[06®
plants can get along without roroyeTRdesT koo Mmouleaym
respiratory organs". Justify the ST a2l B00eMETER HENe”
statement giving three reasons. (3) aReO®BIL0 3 HOCMEBEONOS

[ITM@OUMOW  TVIU BT B6)) .
OR 4 &
: @RE)81wd
18. Fill up the flow chart of 18, (Euowegld e@os0mlse8 D@
glycolysis given below using the : AW edooaimemeaes  eflgy
list of intermediary compounds falewowlal ®oey ®mlalenm
given in the bracket. eeesndglmimleon  6qgoalods
Glucose al)@lofle6)d.
J EHITY
............. N
N R R S
Fructose - 6 - phosphate 4
l o (0EHESINV—6-Cn00MiGanR
........... \
! P P N\
Glyceraldehyde - 3 - phosphate J
— DHAP £R0M00MAUWOBOAU—3-6nN0MIBany
\} = Wlag)ajagal
............. \
¢ .............
3 Phosphoglyceric acid J
J 36an0micand Glavdles eomilal
............. \2
i{ .............
................. 3
\L .................
.................. \
(Rhosphoenol pyruvic acid, (aDOMFEa0mDEMOB  ait0iafles
Glucose - 6- phosphate, @RI, (QICLHINT-6-8a00MiGang),
Pyruvic acid, 060 les @omiiad, (osesom 1,6-
Fructose - 1, 6 biphosphate, £MICANOM BanE, 2-8andqUBa0d
) Phosphoglyceric acid, @avdlesnomilad, 1,3 £6eniEan0micand
1, 3 Biphosphoglyceric acid) (3) - gilmodleeomiial)
KR-40 8
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PART - B
ZOOLOGY

Maximum : 30 scores

417

Time : 1 Hour
Cool off time : 10 Minutes

1. Observe the first pair of words
and write a suitable word for the

second pair.

Botanical garden : Living plants

............................. : Living animals

2. Characters of a marine

invertebrate is given.

® Spiny skinned body

® Presence of water vascular
system

a) Identify and write the
phylum.

b) Write any two functions of

vascular

water system

among them.

3. a) Identify the cell given in the

diagram.

b) Mention the name of animal

phylum based on this cell.

KR-40
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BMoaeEm alderoww] miciexla)
6N 01 6) BTD) alBEROWIEe)
@MIEWOBINOW  alBo  a@O®N
Q) PY®YB>.
ONIOZI6TIIE OB : gl myas
OaVYEIRD

............................. : aumeg romyead (1)

mesgflgoam any maye @alwes

i quAJlerati®d: @ @R o6y

OISO 186N,

O 06556308 B8l oidmmaes
wadlee

@ 2038 A criee0h ayaIMOEeSs
moaTilaLyo

a) ©6anelo o@eO®M ®@1d)ayclewy
Q)P ?

b) @eci@les osd aoaveend
UIMOWIOS 0me WaeBd

0G)FID)b>. : (2)

a) 2@eold ®mdenim es00mo

@O @@l Clw)dss.

b) o1 emonewmlod @oslounom
@I @al® O@HOg @MY
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4. Two examples of fishes are

given.

® Scoliodon (Dogfish)

® Exocoetus (Flying fish)

a)

b)

b)

Place them in two distinct

classes.

Differentiate the above
classes on the basis of two

Important characters.

Observe the given diagram
and identify the parts noted
as A, B and C.

Write the role of secretion
stored in Part A.

(3)

(2)

DTVITBHROS BN HBEIAOBEMETBROGT

Bl mMmae

® Mesoglewocanoemd ((voa)

® oMM (alode)o bzm‘so)

2) @maew @6y gy aVdaleroa
WBEISI O bs.

b) @& (wwom mescumAalicway
O8O @0 Sl aunom e @

@AUOR ®OC®BB6)b.

a) ®oey omldleaym  afimo
mleleday” A, B, C ag)om)

CONEBR @Bl Clais.

b) A agom eswon G006 D60
Sy mwasemlen wdame

Q)P Bs.

= Ducts from liver
(@o@IBOIM)e 088 OSlokdd )
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6. Uricotelism is more 6. wdleomee 8TV B MO 6P
advantageous than ureotelism @oslaquodm @@ aidemoowyo
and ammonotelism in strictly S01@  glafeaym mamyses)d
terrestrial animals on the basis wyolewonselemeom B6)08)0
of water conservation in the ®EDOEEMOO SV EED H6080
body. Justify. (2) (UEWORMH000® BB Wles60-
esellamoem’ myoeedloes.. (2)
7. Diagramatic representation of 7. ompyymiea  @odened  eew
CO, transport in man is given. a8 0emwlon (SoMMBat0dS’
Observe and answer the Boemleegm 2/li@ e eemo
following. n @Bl elenim,. M@l o)
OODOTBRD ag)F)@)Hs.

As Carbonic acid | ‘

OdGeoEMBs @RI

20-25%

As Carbaminohemoglobin

oderuoalemd ao"]emocsg{;omncﬁ)

a) Name the method of Co, a) A agav mgoflafla) @0Benien-
transport indicated as A. POWRIBHOMA (S0MBAVEaIORS]
b) Write the name of enzyme o ATIReS cld agemye.

involved in the process A. (2) b) A agm i@l OReaiglgies

@OMOUTWIOS Gall ag) @b, (2)
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8. a) Fill up A, B, C, D and 8. a) A B, C, D agmlar ayadlaflaf
complete the branching chart ®o6¥ @MIAIEHIM ORINMYal0
given below. - QOIS
Blood
QB0
Plasma 0000 eeeeeeen A) ...
gJomim
RBC (B) Platelets
sy oswosmgeed T Qe S et
. N\,
N\,
: \\\
Granulocytes .~ ' (©) ‘
womaeosemgns 7 R
\
Neutrophil . D) ........ Basophil
myesoanl@ . 6NICEaVIAL]MD \
Lymphocyte Monocyte
efloGanoeeaug GQOGEMOOOAVH
b) Write the function of b) egjgeeiqieains wdomo ageyme  (3)
platelets. (3) e gjsslad
‘ OR » 80} oo mowoeem ECG ol
In man, normal ECG consists of 241 OROWETRR EOET ©88® @O
three waves. ' a) P-moowmo
a) P-wave ‘

b) QRS e®:00gjesmd’ maowo

¢) T-ooowno

DM 0T @AM ag)amlem
OWOOBOWOEN EODBODOLEIMB? (3)

b) QRS complex wave

¢) T-wave

What does the above waves
mean? (3)

KR-40 12
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Name of few bones of 9.  @vegdaeeend wedelgmieel
appendicular skeleton is given aflel @ounl®810s cal@ ®oayw
below. RQESSIQOIGE= a0o)N
Clavicle &omlsesiid
Humerus olkbielyly
Tibia Slenfiw
Patella aloeges
Scapula aU0azel
a) Select the bones of pectoral 3) Oalaiosood  ddald  eel
girdle. @Il O®ONETHSIH6:. -
. . ' b) @sewglomwis - eadales
b) Name the articulating cavity Ndavle@omnayo ol
between femur (thigh bone) (
cwoglafienym @yoalglwies
and pelvic girdle. (2)
GAIODPI®)Bs. (2)
10. A table is shown below, based on 10.  @oamsmoal (om0 mm@gas
the endocrine gland and their Mgl Soemlenm  ag s
secretions. Complete it by filling mnaielcdlesmmy A, B, C, D ag)al
A, B, Cand D. (2) aflgieato® €WaB® aydlaflal aige
ENOIFNEYS (2)
l
Endocrine gland Hormone Functions
@oamguoadl (mmdl BanNODEMOEM WAEMBWD
Pancreas | ... Ay ..o Hypoglycemic hormone of blood
BOUMEMIMI] BT 6L Rieeeonilo @osal eyosaim;
.......... B) ... Thymosin Provide immunity
O®EROMIIM BOIN(IUIBOOW GUvadl M@BeyMy
Pituitary gland ADH/Vasopressin | ©€) .........
aflguadl wmnd ADH/aioeqvosimiad
Ovary | ... D) ... Support pregnancy
@REMLON®o ndeworemea® mleimdamymn
KR-40 13 Turn Over



11. Fovea of retina in eye contains ..... 11. sqpea eogimeiee canoalwwidd
ROQSIMNE ...oovveen '
a) rod cells only R
a) GO0 GE:OUETBD MO(®o
b) cone cells only b) emoend eEOUEIBUd @mI(®o
c) both rods and cones c) @0oa GHOMEMBlo  BHIEM
d) rods and cones are absent (1) BOURGRE
d) cooaw emomemglo  EHOeM
GBHOMDETRBI0 EDL)
12. a) Complete the given table 12. a) agd aydediedend (empauy
(parts of human brain) QNS nHBOTOR @UERD)
Fore brain Hird brain
Parts/@omema@d Parts/conemad
1) Cerebrum/eqvclisnio 1) Pons/eaioemday’
i1) Thalamus/@eoany i1) ll .........................
|
I | e STV Medulla/eaag)
l
b) Which one of the above parts b) oyegldd  esosEmIClenim
of brain that controls gasiric aav@l et Bemled  cOnaBEla
secretions? (2) EDROR@OMETONR HFa0BMODD
Oeanm @OWo agy®?
13. Identify the given biomolecule 13. omoviald  pdeqisiam @Y
that comes under fat. (D emlclenym ek  ®MI®
@@ 01,
0O
I it
CH,-0-C-
ﬁ | z B, 0 CH,-O0-C-R
Il I
R,-C-0-CH
? 0 R,-C-0-CH
| I | 2
CH,-O-C-R
. s CH,-0O-C-R,
KR-40 14
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14. a) Identify the given diagrams
of connective tissues A and
B.

14.

417

a) @midenm ewoms e oo
al@emd A, B agmia

@@ o) Slads.

(A) (B3
b) Write the location of tissue b) B agm sl @MOoakymia@d
B in human body. (2) aglloswoeny qudlel eaigumae (2)
15. a) Name the biomacromolecule 15. a) moev 005 0malenm enimuo
(polymer) in which the R BeR0  ©@dmC e
peptide bond is present. LTI o e s T
ealedoengay’ enimwo
b) Name the bond present bty e
between phosphate and GaDOMEanglm;o 0300100
hydroxyl group of sugar in 660G (W ds @ (afimgo
nucleic acids. 2 sl $06MeaS30M
SUTWETHIONR ol ag)wimye. (2)
16. Prepare two correctly matching 16. omidlenym aicemd Dale@omlaf
pairs from the given terms. NS EOMIEWORIBOW IBERIWGdR
Ommatidia W00 06)65.
Hepatic caecae sooglaliw
Genital pouch eanaiogles miles
Sensé¢ organ- 0BOOMQD atvaf
Excretory organ 2emoemdlo
Digestive gland allovdgmoniwalo
Upper lip (2) BaOm (g
cOm oijeng (2)
KR-40 15



